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Note : (i) Attempt any five questions.  

 (ii) All questions carry equal marks.  

1. What are the IPM (Integrated Pest 

Management) package to control the Uzi fly ? 

Discuss the cost of IPM package/crop to rear 

100 dfls.   10 

2. (a) State the symptoms of Pebrine disease at 

egg, larval, pupal and moth stage. 5 

(b) What are the predators of Eri silkworm ? 

How do they cause loss ? 5 
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3. Write short notes on any two of the following : 

5×2=10 

(a) Bacteriosis of Tasar silkworm 

(b) Tachinid fly 

(c) Leaf Roller 

4. Discuss about disease management in silkworm 
rearing.   10 

5. Define any five of the following : 5×2=10 

(a) Foliar diseases 

(b) Bioformulation 

(c) Fungicide 

(d) Nymph 

(e) Disinfectant 

(f) Pest 

6. Discuss about the diseases of Tropical Tasar 
silkworm host plants. 10 

7. Explain the causative agent, source and route 
of infection, symptoms and management of 
Flacherie disease in mulberry silkworm. 10 

8. Discuss about Dermestes beetle and its 
management in silkworm rearing. 10 
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js'kedhV ikyu esa izek.k&i=k  

(lh- vkbZ- ,l-) 

l=kkar ijh{kk 

fnlEcj] 2024 
ch-,y-ih--004 % iQly lqj{kk@cpko 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % (i) fdUgha ik ¡p iz'uksa ds mÙkj nhft,A  

 (ii) lHkh iz'uksa ds vad leku gSaA  

1- Åth eD[kh dks fu;af=kr djus dh vkbZ- ih- ,e- 

(,dhÑr ihM+d izca/u) iz.kkyh dkSu&lh gSa \ 100 

jks- eq- p- ds js'kedhV ikyu ds fy, vkbZ- ih- ,e- 

iz.kkyh@iQly dh ykxr dh ppkZ dhft,A 10 

2- (d)  vaMk] fMEHkdhi] dksf'kr vkSj 'kyHk voLFkk esa 

iSfczu jksx ds y{k.kksa dk mYys[k dhft,A 5 

([k)  vj.Mh js'kedhV ds ijHk{kh dkSu&dkSu ls gSa \ 

os fdl izdkj gkfu igq¡pkrs gSa \ 5 
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3- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   5×2=10 

(d)  rlj js'kedhV ds thok.kq&tfur jksx 

([k)  VSdhfuM eD[kh 

(x)  i.kZ osyu (yhiQ jksyj) 

4- js'kedhV ikyu esa jksx izca/u ds ckjs eas ppkZ dhft,A 
10 

5- fuEufyf[kr esa ls fdUgha ik¡p dks ifjHkkf"kr dhft, % 
5×2=10 

(d)  if.kZ; jksx 

([k)  tSo lw=khdj.k 

(x)  doduk'kh 

(?k)  f'k'kqdhV 

(Ä)  fo'kq¼hdkjd 

(p)  ihM+d 

6- m".k dfVca/h; rlj js'kedhV [kk| ikniksa ds jksxksa ds 

ckjs esa ppkZ dhft,A 10 

7- 'kgrwr js'kedhV esa Ýyspjh jksx ds dkjd] jksxk.kq] 

lzksr vkSj laØe.k ds ekè;e] y{k.k ,oa izca/u dh 

O;k[;k dhft,A 10 

8- js'kedhV ikyu esa MesZLVsl Hk`ax vkSj blds izca/u ds 

ckjs esa ppkZ dhft,A 10 
× × × × × × × 


